QCAT - Task #1065

Annual rainfall: Too many values
27 Sep 2016 09:59 - Lukas Vonlanthen

Status: Closed Start date: 27 Sep 2016
Priority: Normal Due date:

Assignee: % Done: 0%
Category: Estimated time: 0.00 hour
Target version: QA and QT migrated Spent time: 0.00 hour
Resolution:

Description

In QT 2.7.1 Average annual rainfall, multiple rainfall values can be selected (rank from 1 to 3).

In QCAT 5.1 Annual rainfall, only 2 ticks can be checked.
Is the following mapping procedure ok?

1) Use all ranks to map rainfall: 32 Errors

T_MLIOOlen
T_AUS003en
T_RSA100en
T_ETHOO4en
T_TANOO7en
T_TANOO6en
T _THAOOlen
T _PHIO45en
T_PHIO13en
T_PHIO1l2en
T_PHIO10en
T_MORO13fr
T_TAJ402ru
T_INDO13en
T _INDOl7en
T_NEPOOlen
T_NEP023en
T_NEP0O3en
T_NEPOO4en
T_NEP0OO7en
T_NEP0OO8en
T_NEP00O9en
T _PHIO08en
T_PHIO09%en
T_TAJ362en
T_TANO17en
T_KEN660en
T_NEPO55en
T_GER008en
T_GER00O6en
T_GEROO7en
T _ETH608en

2) If there are too many checkboxes in (1), use only rank "high" to map rainfall: 13 Errors

T_ETHOO4en
T_NEPOOlen
T _NEP0O23en
T_NEP0OO3en
T_NEPOO4en
T_NEPOO7en
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T_NEP0OO8en
T _NEP0OO9en
T_KEN660en
T_NEPO55en
T_GER008en
T_GER0O6en
T_GER0O07en

3) Use comment section of QCAT if there are still too many checkboxes in (2)

History

#1 - 28 Oct 2016 11:49 - Lukas Vonlanthen

- Status changed from New to Closed

ok
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